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( Distinguish Between Fact and Opinion — Questions

Name Date

Lions
1. Write F for fact or O for opinion next to each statement.
____Lions are the second largest cat species in the world.
___ TLions are better than any other animal in the wild.
_____Inthe wild, lions rest for around 20 hours a day.
_____Ithink they are the most ferocious animal in the world.

Lionesses are better hunters than males.

2. What is your opinion of lions?

3. What are some of the ways that you can tell the difference between a fact and an opinion?

4. Make a list of some common words that you might find in an opinion.
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Addition mental strategies — number complements

r Two numbers that add together are called complements.
L 12 and 8 are complements to 20 because 12 + 8 = 20

Loop the complements in each set:

a Complements b Complements
to 20. There are / 4114 to 50. There 261121130 | 20
three to find. @ 116 are eight to 24 | 38| 15 | 35
The first one find:
has been done @ 12| 8 17145 5 |40
for you.
33 (1832|110

Complete these complement webs. Start with the centre number and subtract.
Write your answers in the ovals:

Show how knowing the complements to 20, 50 and 100 makes adding easier. You
may want to loop the complements first. The first one has been done for you.

a 80+20+@

b 18 +2 + 30 + 20 + 10 + 10

100 + 20 = 120

c 25 +25 + 40 + 30 + 20 + 10

d 15 + 35 + 20 + 30 + 10 + 12

Addition and Subtraction
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Addition mental strategies — split strategy version 1

When adding large numbers in our heads, it can be easier to split one of the
numbers into parts and add each part separately.

40
112+46< — 112 + 40 = 152 —» 152 + 6 = 158
6

Practise separating these numbers into tens and units. The first one has been done
for you.

40
a 48<
8

Practise adding
the tens to
these numbers: 123

20 50 30 70 60

214

Use the split strategy with these problems. The first one has been done for you.

[V

50
48+53< —_— | 48 + 50 = 98 | —p | 98 + 3 = 101
3

b 65 + 38

d 332 + 66

C 112+25< e  ——

Addition and Subtraction
3F
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.Shinjiis 182 cm tall. Jane is :
169 cm tall. If Brianis 15cm _
taller than Jane, what is the
combined height of all three

. i T

2. What is the difference
between the largest and smallest
number that can be made with
the digits 6,4, 9, 3,0, 27

# @2
i
L

R

R s
_ _

. Janine wanted to buy a new laptop. The laptop
costs $1299, but has been reduced by $
If Janine has $3423 in savings, how

much money will she have left after
she purchases the discounted
laptop?




